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TOPICS: AS 1, 20, 9, 2, 18, & 24, Fire Insurance Claims - Loss of Stock & Loss of Profit

NOTES: (1) WORKING NOTES SHOULD FORM PART OF ANSWERS.
(2) NEW QUESTION SHOULD BE ON NEW PAGE
QUESTION NO.1 (5*2 = 10 MARKS)

A. ABC Ltd. was making provision for non-moving inventories based on no issues for the
last 12 months up to 31.3.2019.

The company wants to provide during the year ending 31.3.2020 based on technical

evaluation:
Total value of inventory Rs. 100 lakhs
Provision required based on 12 months issue Rs. 3.5 lakhs
Provision required based on technical evaluation Rs. 2.5 lakhs

Does this amount to change in Accounting Policy? Can the company change the method
of provision?

B. From the following information given by Sampark Ltd., Calculate Basis EPS and
Diluted EPS as per AS 20 :

Rs.
Net Profit for the current year 2,50,00,000
No. of Equity Shares Qutstanding 50,00,000
No. of 12% convertible debentures of Rs.100 each 50,000
Each debenture is convertible into 8 Equity Shares
Interest expense for the current year 6,00,000
Tax saving relating to interest expense (30%) 1,80,000
QUESTION NO.2 (5*%2 = 10 MARKS)
A. Hello Ltd. purchased goods at the cost of Rs. 20 lakhs in October. Till the end of the

financial year, 75% of the stocks were sold. The Company wants to disclose closing
stock at Rs. 5 lakhs. The expected sale value is Rs. 5.5 lakhs and a commission at 10%
on sale is payable to the agent. You are required to ascertain the value of closing stock?

B. What are the disclosure and presentation requirements of AS 24 for discontinuing
operations?




QUESTION NO.3

(8 MARKS)

A fire occurred in the premises of M/s. Fireproof Co. on 315t August, 2010. From the following

particulars relating to the period from 15t April, 2010 to 315t August, 2010, you are requested
to ascertain the amount of claim to be filed with the insurance company for the loss of stock.

The concern had taken an insurance policy for Rs. 60,000 which is subject to an average clause.

Rs.
(i) Stock as per Balance Sheet at 31-03-2010 99,000
(ii) Purchases 1,70,000
(iii) | Wages (including wages for the installation of a machine Rs. 3,000) 50,000
(iv) | Sales 2,42,000
(v) | Sale value of goods drawn by partners 15,000
(vi) | Cost of goods sent to consignee on 16th August, 2010, lying unsold
with them

16,500

(vii) | Cost of goods distributed as free samples 1,500

While valuing the stock at 315t March, 2010, Rs. 1,000 were written off in respect of a
slow moving item. The cost of which was Rs. 5,000. A portion of these goods were
sold at a loss of Rs. 500 on the original cost of Rs. 2,500. The remainder of the stock is
now estimated to be worth the original cost. The value of goods salvaged was estimated
at Rs. 20,000. The average rate of gross profit was 20% throughout.

QUESTION NO.4

(12 MARKS)

A fire occurred on 1st February, 20X2, in the premises of Pioneer Ltd., a retail store and

business was partially disorganized upto 30th June, 20X2. The company was insured under a

loss of profits for Rs. 1,25,000 with a six months period indemnity. From the following

information, compute the amount of claim under the loss of profit policy.

Rs.
Actual turnover from 1st February to 30th June, 20X2 80,000
Turnover from 1st February to 30th June, 20X1 2,00,000
Turnover from 1st February, 20X1 to 31st January, 20X2 4,50,000
Net Profit for last financial year 70,000
Insured standing charges for last financial year 56,000
Total standing charges for last financial year 64,000
Turnover for the last financial year 4,20,000

The company incurred additional expenses amounting to Rs. 6,700 which reduced the loss in

turnover. There was also a saving during the indemnity period of Rs. 2,450 in the insured

standing charges as a result of the fire.

There had been a considerable increase in trade since the date of the last annual accounts

and it has been agreed that an adjustment of 15% be made in respect of the upward trend

in turnover.




